MATHS P2

| IR

K.

. No. Log
36.72 ~ 1.5649
0.461—>2(1.6628) = 13256 J13logs
. 0.8905 Ml ‘
1854 —— > 772682, operations (x3.+.-)
_ j 26223 Mi
2.6223= ~3+1.6223 correct attempt
3 3 M1
3474 X10"'e—— 1.5408 , accept standard form
=0.347 Al
— 4
. p=r (1 -as?) M1 for squaring both sides
=" (1-7.) Mi or equivalent for s*subject
e CAO Hrp
=7 {1 a(l-v) Al | =P,
‘ Pz 7
3. ZPTO=90° (0‘)1_ ZRTN=90° B1 N
Z/TOR=110°or £TOP=70° B1 2 . ‘.N Je
- ZRST=55° Al
4. 800x0.006=4.8 B1
9% error = 4.8 - (788 x 0.006) x 100% M1
788 x 0.006 Accept] S284264%
=(0.072 x 100% rounded off to at
4.728 least 3dp
= 1.523% Al
K. x=9%+11+12+ 13+11+10 M1
- 6 orequivalent
(X-Xp=401401 =11 M1
P=4+0+1+4+0+1 CAO
6
1.6=#X =10+6 =1%, Al
b, (3\2-V3) 23 +2) M1
(23 - V2) (V3 + \2) M1
_ _6V6+6-6-16 Al
12-2 3
- 1,6
7. 2 1\ B1
mid point OQ determined by
O/ | construction
| Q B1 arc centre M. radius OM
\ ' cutting circle at P
g,  Taxon 1st9680 '
=10/ x 9680 M1
= 968"
Monthly income (shs) i _
1916 - 968) 100 + 9680 _ | sy s alent
15 !
= 6320 + 9680 :
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9. q3+(',2+(2/)2=12 M1
qz =1 5/9 = 4/1
q=+, Al
10. Coordinates of A: -
(a) 543, ¥,+1
37 T3 = A1) M1
() #=5+ Z)ﬂ{S Ij B=3 M1
Equ (X 1) +(y 2) = 52 Al
x2-2x+1+y*-4y+4 =125
x2+yP-2x -4y -20 =0
11. (2+‘/) =25+5 (2% (‘/%) + 10 (23)(‘/ o M1
F10@/ P45+
@Y =282, )+f0(2 NN M1
0 e UM A UM UM
—2[25+10(23$(‘/ Y52 S('/ O M1
=64+80+5 Al
=149
12. t=k‘/\;y_0§t—k”%"\m\ Mi
Decrease =t-0.8t M1
=0.2t M1
% decrease = 0.2t x 100% Al
t 4
=20%
13. | |arc centre A radius 6¢m drawn
bisector of BC drawn & dotted
parrallel 4cm trom BC drawn
Bl region shaded. Apply
Bl : if to BCisafull line
g: NB: All boundaries mustenclose
the required region
14. . N
el = P plotting of all points
** Cl smooth curve
= Bl for x=2.5+0.1 at y=2
gitce: EE
: I s 1}
S
=
11 -
&=
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15. V= Jadt=10t-%t'+c M1
att=0,v=9=>¢c=9" M1
~=10t-2+9
att=3, v=10(3) - 3*+9 Al
=30m/s
16. /ZPOG=180-(36x2) -
3 - -(36x
- 108° Sy
Dist PQ = 108 x 60
= 6480 mm 3
17 Section I1 M1
a) i) Principal = 3253&())(()) - (12800 x 3) Al
; =3
ii) r= 12800x 100% M1
320000 Al
b ;—‘4% - M1
i)  Deposit =2/ ,x 56000
44000 i
Instalments = 56000 - 14000
T 2625 Al
=16 M1
ii) Cash price 100 - 12.5 x 4000 =35000 M1
- 100 M1
9, difference = 56000 - 35000 x 100% 10
35000
= 60%-

18. Let width of the path be x Ml ;
Area=(10+2x)(8+2x) = 168 Mi orequivalent
80 + 20x +16x+4x>=168 M1

4x3+36x-88=0 Al
=x+9x-22=0
(x-2)(x+11)=0 M1
(x-2)(x411)=0 M1
x=2 or-11
Width of path = 2m

b) Area covered by small slabs
=14 x 12- (10x8+4(2x2)) orequivalent
e 72m2 2 Al
Noof slabs ="/ ¢ s M1

=28% M1
Cost of slabs - Al
Large = 600 x 4 = 2400 10
Small 50 x 288 = 14400
| Totalcost=2400+14400—= 16,800
—1 : i — ﬁ B1 B’(-4.-3) plotted
2 mms s C (3.61/2) plotted
—n D 4 e Bl ABC drawn
= HATEs B1
» 4 1@: = e 5 0 1 ‘\‘%
: ‘7‘ + [ ..7 ' 7 \
Save s e
e s i

e :—’\—L..L,. 100 ;4\226.






Shearmaps 1(1,0)- 1(I,1172)

i)shearmaps1(1,0) 1(1,1') M1 OR
matrix = 1 0 Al
Ll 5 (1909
Al k1 5

b)i)(l;/l2 _10) Cis Bl cl3)
d 2 B1
All

accept geral form after

B! cu B1 formation of 4 possible equation
= I8 4 -3 B1
S0 -l 2 A”B”C” drawn & labbelled
ii. Halfturn, about (0,0) i
DO % Dotslisti
[ [2]z]4]s]e]7]e g
L. x| ®xl 2] 2] %] %] %
2 v | %l x| x| %] %
3 4 X Ol o 2 o*
A ” X | %! ¥ *
5 - ®x| % |
6 o ® ®» ,‘.
171 e - . x—
18 |o oo BN ik . Bl
H B1 on the table or listed
i p(lx-yl=2) favou:able outcomes B1
=12 B1 oon hetable or listed

p(Ix-y1=2) =" =/
ii. p(1x-y/5) favourable outcomes B1
p(1x-y5)="% =/ ;¢

jii. p (x >y) favourable outcomes B1
px>y)=2 =" M1 - :
bi) ke2kt3lordk ] Al on the table or listed
21k=1 ;
K Tll
i) p(1 1=, %, +, %,
=60/ :
I 41
-t 147 10
D 1.Alcohol vol. in the mixture the volume of the water
=9/, 80 =48 litres /4o X 80 =32 litres
New proportion of alcohol =/, . )
o =S B1 new proportion of water =
x=40 B1 32+x
b) % of alcohol in the new solution is M1 - 80+x
a0 100 jg‘zl'”x 100 Al / . ‘{80
¢) Alcohol volume in the mixture in litres M1 watervohnmmﬂais4gni>mw
=5%%,,+2x%/ Al wSx W H2Ax N
1612 M1 34+08=42
=28 Al .
The ratio=(7-2.8):2.8 M1 Theratio=4.2:(74.2)
=4228 =42238
i Al iy
=32 =3:2

397 -






; 5 M1
D2{a) axarxar’ =64 M1
ar =64
r= 343 Al
=4 M1
piata x Y, +4a(/r= f4 Al
at- 10a+a16=0 B1
a=8o0r2
sor="0r2 B
8,4,2,1 s
2 4, 8 16 ‘ M1
u)y The product— 8(‘/ )5°' x2x2%! =16 Al
10
D3. a)300x + 180y<18000 . B1
5x+3y<300
X+y <80 Bl
x>0,v>0 B1
D INCE i : -
6= SESSfSemmemet EEssgEcEiis
S-A = sl
R st
== s === Bl -
= : ? : S ; T = B
= ZEEESESOSnaieEEs = - B
i } T R W_TE T L B]
= e SSTaSEEENIESE
e e e
o .‘!.:f";ﬁ:; RS G Rich
x=30,y=50 B1
Max profit= 50 x 4000 + 30 x 6000 M1
380000 Al
ha. a)3x=4-% M1
(x+4)(x-1)=0 Al
x =-4 orx=1 B1
- The coordinator of P (1.3) B1
- The coordinator of Q -4.-12) M1
b)f 14 dx = [0 ] e
-—(4x2-‘/ x(-2)° (4x-4~” (-4y M1
Al
The shaded area" ', x4x12-10%, M1
below x axis Al
=131/, : ;
Shaded aréa.—— 13Y/, + [4x-/.xT E |
=13173 [4x 3-153(8) ; :
=131 +3Y i
= !8/ | 19
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